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U SR, 25

Q.No.26

Q.No.27

(Q.No.28

Q.No.29

Q.No.30

Q.No.31

. e ST SRS VST W v feverter o o

ool

AU T 59 FE 4.

(A)y Tgernm (B) ol
(C) gamm (D) g

- Select the correct sentence.

(A) Johnis a good player, isn’t he?
(B) John is a good player, is not John?
(C) Johnis a good player, is John ?
(D) John is a good player, is he ?

: To break the ice means ----

(A) to start a specific work. (B) to ease difficult task.

(C) todo hard work. (D) to climb mountain of
ice.

- Choose the correct sentence.

(A) Ienjoy to play golf.
(B) Ienjoy to have played golf
(C) 1amenjoying playing golf.
(D) 1enjoy playing golf.

: The book is translated ........ many languages.
(A) in (B) from
(C) into (D) upon
: My boss was kind enough to accede ------ my request for
leave.
(A) with (B) on
(C) in (D) to

: The girl said, “May I wear this sarree, mother?” (Change into

indirect speech)
(A) The girl asked her mother if she might wear that saree.

(B) The girl asked her mother that may I wear this saree?
(C) The girl asked her mother if she may wear this saree.
(D) None of the above. ‘
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Q.No.32

Q.No.33

Q.No.34

Q.No.35

Q.No.36

Q.No.37

Q.No.38

"9 . 39

: Ramesh 1s a handsome boy. (Make it Exclamatory)

(A) Is Ramesh a handsome boy?

(B) What a handsome boy is Ramesh?
(C) What a handsome boy Ramesh is !
(D) None of the above.

: Select proper pronoun.

One should be proud of ------ motherland.

(A) his (B) ones

(C) one’s (D) once
: Verdict 18 ----

(A) the opinion of a common man

(B) opinion of a Priest.

(C) opinion of a Doctor

(D) the official decision made by the judge in a court of

Law
: Each of the rooms ---- cleaned in the morning.
(A) are (B) were
(C) was (D) have been
: Choose the correct alternative.
She knows that he --~-- in the factory at this moment.
(A) has working (B) works
(C) has been worked (D) is working
: Complete the following proverb by choosing the correct
answer.
Prevention is ---------- than cure.
(A) much better (B) far better
(C) more better (D) better

: Choose one of the following words for completing the

sentence correctly.

Rama and Laxman were brothers. The ------ was younger than
the former.
(A) later (B) letter
(C) latter (D) last
;27" +49'2 647 =7
(A) 8 (B) 2
) 4 (D) 6
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Q.No.67

Q.No.68

Q.No.69

Q.No.70

Read the questions and find their answers from the passage.
(Question No 67 to 70)

A man who has acquired the habit of reading s very
happy. His mind is filled with knowledge, noble thoughts and
high ideals. A man who does not read is really poor and his
life is empty. If we are able to choose the right kind of books,
reading gives us the highest kind of pleasure.

We read some books like novels for more pleasure and
amusement. When we are tired, such books give us healthy
recreation. But we should not read books of fiction only. As
we need wholesome food, so we need serious reading for the
mind. We must develop a taste for books on history,
philosophy religion, travel, science and also books of poetry.
Such books give pleasure and education. Books are the most
faithful friends. They are always ready help us and converse
with us.

: Who according to the writer, is a very poor man ?

(A) who does not write.

(B) who does not purchase books.
(C) who does not have money.
(D) who does not read.

: What do books give us when we are tired 7

(A) Give knowledge. (B) Healthy recreation.
(C) Highest kind of pleasure. (D) None of this.

. What do the books do 7

(A) Give pleasure and education.
(B) Act as a faithful friend.

(C) Help us and converse with us
(D) All of above

: Write two words for entertainment from the passage 7

(A) health and recreation

(B) recreation and amusement
(C) Highest kind of pleasure.
(D) All of above.



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

Q.No.71

Q.No.72

Q.No.73

Q.No.74

U %. 75

Uy &, 76

v %, 77

Read the following poem and answer the questions
given below. ( Question No 71 to 73)
I want to go abroad my ship,
and sail and sail away.
To see the whales a spouting and
porpoises at play.
To meet Atlantic rollers with their
wild and mighty sweep.
I want to know the dangers and, the
wonders of the deep.
I want to see tall icebergs all
a-sparkle drifting by
With surf about their buttresses,
their spires against the sky.

: Write the name of fish from the poem

(A)  sail (B) whale
(C) spire (D) butters

: What does the poet wants to know?

(A) To see whales.

(B) To meet Atlantic rollers

(C) To know dangerous wonders
(D) All of above

: And where does the poet want to go ?

(A) Abroad by air (B) Abroad by ship
(C) An atlantic (D) None of above
: How many strokes are there in English short hand?
(A) 20 (B) 26
(C) 24 (D) 28
: STt viiedvedl W S Wby weare aY o 2
(A) 1947 (B) 1957
(C) 1837 (D) 1937
: TRIST S-S THoT o {2
(A) 22 (B) 24
(C) 34 (D) 36
: Hehd 3T feretoard Tper wie fadt 2
(A) 4 (B) 3
C) 6 (D) 2

10
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: $TEAHI STHRATT AUIRT W3 www o Q07T €T FTT 378 ?

(A) world wide web (B) world width web
(C) world with web (D) wide world web

: Hard Disc € &1 & ?

(A) software (B) storage device
(C) RAM (D) CPU.
: SiessHl T ----- T WHEH FG 7
(A) 256 kbps 30 gbps (B) 264 kbps d 30 gbps
(C) 256 mbps o 30 gbps (D) 264 mbps T 30 gbps
: AT BUS H1 ?

(A) A collection of computers within one company use for
communication and data exchange
(B) The largest communication network in the world

(C) communication device within pentium computers that
speeds data excess

(D) One of the parts of a network design to prevent system
crashes

: In MS Word to insert a row in table following method is

used?
(A) Select ‘tools’ select ‘tables’ select ‘insert row’

(B) Select the ‘entire row’, select ‘table’, select ‘insert row’
(C) Select the ‘cell’, select ‘insert’, select ‘row’
(D) Seiect the entire table, select ‘table’, select ‘add row’

: In MS Excel pressing the ‘Tab’ key moves a cell pointer from

(A) Top to bottom (B) Lefttoright
(C) Bottom to top (D) Right to left

;WO YRR F Wehedl WORS HUell Yo EE H 7

(A) W WIS ¢ AeRd F Sehel! QIR ¢ FaaEst
g,

(B) wamRl Tt ¥ Optical T WHET WIS & Magnetic
3.

(C)  aEmd WIRS ¢ woig 7 el wens & 997 I,

(D) WaHl WIS & Removable 3 Thed! WIS & Built
in 3r@d.

11



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

W oh.

"3 .

U3 &h.

W oh.

"3 .

"3 .

85

86

87

88

89

90

. ORI WIS WU | Hiewr SHOTeRie S SaavarEst

EIELGIG I
(A) T Tee (B) @S Te&h
(C) et Tewh (D) S=rd
. The first page displayed when the user first goes to web site--
(A) Front page (B) First page
(C) Home page (D) Web page
;U Ot 3. WU ------
(A) ®ved W (B) fhem W o
(C) e WA (D) TR @

- What does abbreviation HTTP stands for ?

(A) Highlighted text Transfer Protocol
(B) Heavy text Transfer Protocol

(C) Hyper tally Transfer Protocol

(D) Hyper text Transfer Protocol

: Which computer system allows people from Mumbai and

Nagpur to have in person meetings?

(A) E-mail (B) Video Conferencing
system
(C) Voice mail messaging (D) Fax machines

: The program used to navigate, explore and find information

on the internet is ----

(A) Searchtool (B) Netware process
(C) Browser (D) Netter.
Fed {CqUTEIST AT
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